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	Reason for change:
	The V1 and V2 events used for sidelink CBR measurement report triggering do not consider the hysteresis value. Withuot hysteresis, false CBR triggering may occur. That may increase the signalling overhead and may also affect the resource allocation, since whenever a V1/V2 event is reported the eNB may change the resource pool allocation. 
In fact, all the other legacy measurement report events take into account a hysteresis value.

	
	

	Summary of change:
	Hysteresis value is added to V1 and V2 measurement report events.
Impact analysis

Impacted functionality:

Measurement report V1 and V2
Inter-operability: 

If the network is implemented according to this CR while the UE is not, there is no       inter-operability issue.

If the UE is implemented according to this CR while the network is not, there is no inter-operability issue since in any case the hysteresis value is already included in reportConfigEUTRA. 

If one UE is implemented according to the CR and the other UE is not, there is no inter-operability issue.
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Beginning of changes

5.5.4.14
Event V1 (The channel busy ratio is above a threshold)
The UE shall:

1>
consider the entering condition for this event to be satisfied when condition V1-1, as specified below, is fulfilled;

1>
consider the leaving condition for this event to be satisfied when condition V1-2, as specified below, is fulfilled;

Inequality V1-1 (Entering condition)
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Inequality V1-2 (Leaving condition)
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The variables in the formula are defined as follows:

Ms is the measurement result of channel busy ratio of the transmission resource pool, not taking into account any offsets.
Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within reportConfigEUTRA for this event).
Thresh is the threshold parameter for this event (i.e. v1-Threshold as defined within ReportConfigEUTRA).

Ms is expressed in decimal from 0 to 1 in steps of 0.01.
Hys is expressed is in the same unit as Ms.
Thresh is expressed in the same unit as Ms.

5.5.4.15
Event V2 (The channel busy ratio is below a threshold)
The UE shall:

1>
consider the entering condition for this event to be satisfied when condition V2-1, as specified below, is fulfilled;

1>
consider the leaving condition for this event to be satisfied when condition V2-2, as specified below, is fulfilled;

Inequality V2-1 (Entering condition)
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Inequality V2-2 (Leaving condition)
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The variables in the formula are defined as follows:

Ms is the measurement result of channel busy ratio of the transmission resource pool, not taking into account any offsets.
Hys is the hysteresis parameter for this event (i.e. hysteresis as defined within reportConfigEUTRA for this event).
Thresh is the threshold parameter for this event (i.e. v2-Threshold as defined within ReportConfigEUTRA).

Ms is expressed in decimal from 0 to 1 in steps of 0.01.
Hys is expressed is in the same unit as Ms.
Thresh is expressed in the same unit as Ms.
Next change
6.3.5
Measurement information elements

<Text Omitted>

–
Hysteresis
The IE Hysteresis is a parameter used within the entry and leave condition of an event triggered reporting condition. The actual value is field value * 0.5 dB, except if included in reportConfigEUTRA and associated to eventV1 or eventV2. If included in reportConfigEUTRA and associated to eventV1 or eventV2, the actual value is field value divided by 100. 
Hysteresis information element

-- ASN1START

Hysteresis ::=






INTEGER (0..30)

-- ASN1STOP
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